k184

E AT OO i & ] — M Cdn D e

(1) (2) (3) (4) (5) (6) 7 ®) 9) (10) (11)
FEUEH T B R VEH OO BT A K OV I NS FEh  [JRvEM | ELvEH | ERMEH ORI FEHEMOEN O o> [FEAHEH O R | FEAER | B o | eI ZARD
() [EEEs (e (o (oK [AoBn  |[FIFAOB EHEOBPL  [IZoW |$GEZ O [#TFHmEZ
e s e H(CF)D1| (nf) TOK DT OfIEA I
(F) S5 A—h i, T At [ S<HIIR T
=Yl Al (R | Eib D
DAk Tt g% K |Fr ok
(M) [ONWN
PEIOL S
fiodk
DL,
K KT 69,600 165 FE —WEEENELIES | 6m |/KiE (K
() - 9|RA1T H345%43 EHEIRE L7 EE I (i3 HA 1
71,400 1:1 Tk 3km [( 40, 80)
-16 W2
K K 65,700 274 [ PSR EEOZ N [ am [KiE|RE
(J) - 19|RARE2183%5 P2 BERY (52 Hidnk i H A o EL
67,800 1:1.5 900m [( 60, 200)
-4 W2
K KT 67,900 364 FEE — e, LEEENE [pEv am [KiE [KF
() — 24|7c & ERTFELORTHIE 7497 1 T£9 DRERR 155 Hirdsk i 5 A orhE
69,300 1:1.2 Tk 2.5km|( 60, 200)
-32 W2
K K 125,000 489 [ KEBAETEOZ MR r 9m |AKiE AT
() - 27|{#rinrs 429 25+ BE R sk it HA 2fE
125,000 1:1.5 Tk 1.7km|( 60, 200)
—18| iRy 5—5) W2
K KT 47,100 495 FEE —WEEOTIZEHE |5 9m |KE |NE
() — 34| PN JERTR1E 157453 M RLNDEE i e
47,400 1.2:1 Tk 980m [( 60, 200)
—60 W2
K K 176,000 536 JEHHeE  [TPEE OIS, FEITE [ 27m [AKiE KT
() 5= 3|RET1T H26%4+ BT V2N ASRIBNE 3k A [Py A [GES
180,000 1:1.5 FE MhE | Tk 1.3km|( 80, 600)
5- 4|[JRIT1—2—1] S8F1B Bk
K K 116,000 563 Tk [TREFETE AR ORE (R 1om |AGE [T
() 5- 5|mMT27T H483%F 24} FE ESCihn i A EES
118,000 1:1.5 Tk 800m [( 80, 400)
5- 6[[FgiT2—5—24 SRC7 [P
K KT 96,000 212 JEEEE TG, FH T, SRITEN | 9m |KiE |RE
() 5- 6|HRF1T H1983%2 IRAES DT BRI | 1 binici
99,600 1.5:1 270m [( 80, 300)
5- 1 S3 HERS
H 7 H Szl 49,500 299 [ PHBEO - EENRE  [f 6m [/KiE [oAHEE
() - 3|¥JIIAKT3T B 278% WIXEPREIRELIAEEM | HA 1k
50,300 1.5:1 1k Tk 2.1km|( 40, 80)
22| [ )IIANT3—24—15] W2
H 7 H Szl 68,500 194 [ — (BT, 73—k, JEE| R 12m K& [HHESE
() — 5|BLIET2T H104% PNRAET DA i HA e
69,000 1:3 Tk 1km |( 60, 200)
14|12 —25—2] W2
H 7 H Szl 62,000 231 [ —fRETOTICEFHIT | 6m [/kiE  [KEE
(R — 16| KRBT T HOSE SEDRAETHEERIK  [5H 2L
63,200 1:2 Tk 320m [( 60, 200)
3| KAWL —24—17 W2
H 7 ENA 103,000 156 JEaHeE  [TPHBL OIS, FRTE [dbk 36m|AkiE |HZ
(B%) 5- 2|EEEHTL T H196% BT N o BN E b 1281 A [GES
105,000 1:2.5 Tk 850m [( 80, 400)
5- 1|IFEEHT1—1—13]) RC3 Bk
ERi] Rl 43,900 239 [ BN (et i 6m [/KiE [#ar
() - 6|dhHisrnT 64 EEstiibin il 1HHHE
45,000 1:2 HimE | Rk 1.7km|( 60, 200)
-5 W2
il TR 40,500 235 FE ZEHIG LR R OADKE [JEVE  5.5m|AkiE |FE)I#R
(5 - 8|72 T H192%1 HHSN T — IR BRI | 75 A 1{KEE
41,000 1:1.5 Tk 2.2km|( 50, 100)
—2[[Z)f2—19—16] W2
il TR 50,700 246 FE T, FEITENE | 10m | /K& |0
(W) - 20[FHNT1280%18 FET 2 BERRE T Hik i A 211
52,000 1:1 Tk 1.5km|( 60, 200)
9|l FHH2—15) W2
ERi] Rl 87,100 212 DRATE B BRIV OND (R 14.3m|AGE [ HiE
() 5- 4|BAIT3T H3309%2 E% Al 57 S sk Vs A ES
91,000 1:3 Tk 400m [( 80, 600)
5- 2| (&3 —1—3) S4 HERS
wrie] ran 31,500 197 FE — e, KRR, M [pEv 3m |AKE | FEAE
() - L EFREZ2321F 4 FERRONDEEHIL  [iH 1y
31,900 1:2 Tk 2.7km|( 60, 200)
-13 W2




Pk 184

E i AN R OO AT HE I & [F]— b Tdn 2 AL UE H

(1) (2) (3) (4) (5) (6) 7 ®) 9) (10) (11)
FEHE 5| Fe A oD BT R J OV 3 0N FLYEM  [JEEMD [JEVERY [ JEMERIOR | EEER O B O e | FEHER O R [JE R | FEEHO | FEAEHI (RS
(b)) [fEEHEs (e (o (oK [AoBn  |[FIFAOB EROBM  I2oW |$EF 0 | # T EiEZ
e s e H(CF)D1| (nf) TOK DT OfIEA I
(F) S5 A—h i, T At [ S<HIIR T
) G |RREDEE (b D
DAk Tt g% K |Fr ok
(M) [ONWN
JHDIK
fiodk
DL,
Gl RGN 79,800 230 (G P — R TN LT [#EER 6m |AGE [T
(R) — 4|HAT H427%2 78— hbAF T B HE i e
80,900 1:3 Tk 800m [( 60, 200)
8| #H4—7—45) W2
GGl ran 52,900 331 FEE —IREENZOKEE | 6m |AKE [T
() - 11| B RS1T H2657%2 R O(E 5 Hidek i iR lin
54,000 1:1.5 Tk 2.7km|( 50, 100)
-18 W2
Gt ran 68,000] 1,909[H 7 T TNE RS, FEEITEN R 12m [/K3E  [driT
(1) 5- 2|FHEENT2961%2 G SR (EE e
69,300 1:1.2 FE MhE | T 1.7km|( 60, 200)
5- 6|IEEMT12—40) S1
GGl ran 99,000 645 ST KHOIEEN ARSI S| G 18m [/KiE  [driT
() 5- 3|ANTLT H5603% 244 IRV O i R [FE 3
105,000 1:1.5 Mo lE Tk 300m [( 80, 400)
5- 1|[AMT1—-3—-9] SRC3F1B HERS
i) Fehe 33,100 231 BT [ —SRETOTICEFSIT | 5.9m [/KGE |7
(5 - 25T B7921%6 ENRIET R (i I
35,100 1:1.5 Tk 1.2km|( 60, 200)
-1 5 —3—6] W2
A i) A 38,400 327 FE BB, S [ 6m |AKiE A0
(B - 4|#4M4T H3934%18 AET DL sk i 1thE
39,800 1:1.5 oA Tk 1.9km|( 60, 200)
5| A4 —7—7] W1
i) Al 52,900 595 B | PO RIS 8L I 5 B 16m |/KE |0
() 5- 1|EFF3T H695%1 HhOL i S SR [E5E ES
55,400 1:5 Tk 650m [( 80, 400)
5- 1|ENf3—2—6] W2 HERS
BE I B IR T 65,000 239 FE — %f***ﬁ@mtzp 5 6m |AKiE [EE
() - 14T H8ET B O | fi5d HA 2rh
65,100 1:1.5 Tk 650m [( 60, 200)
-6 S2
BE I B IR T 34,900 276 [ —SRETENEDIS | 6m |KiE |E R
(Y - 5|EFHr26% PR L7z (M | i HA e
36,600 1:1.5 Tk 1.4km|( 60, 200)
-5 S2
T#E e 30,200 269 &7 [ R, ToN—NER Ak 3.8m|AiE [ FE €9
U - 2|EHEFHRIRIL14273 RAET DBE BRI |58 1k
30,700 1:1 JeH fhE [Pk 1.5km|( 40, 80)
-3 W2
W WA 43,500 209 [ PSR EEOZ N [ 6m |KiE  |AkiEE
() — 2[/K¥EE L T\ P 472274 KSR LT E B A [ 1{KEE
44,000 1.2:1 Tk 800m [( 50, 100)
-3 W2
5 A 58,000 393 [ A= Z LM/ NTETE |3 16.5m [AGE | KHEE
(W) 5= 1|/K¥EIE M 8 [ 26807 14 BN SR [ e
59,200 1:1.5 1k Tk 400m [( 80, 400)
5- 1 S4
LN 1=y N 45,500 304 [ REEENEDHIES | 6m [/KiE [HREAH
(B — 2| Kl —MT3843%2 I: HEIRE LT HIE | s 1rpE
46,200 1:1.5 Tk 700m [( 60, 200)
-2 W2
K kT 47,400 168 [ REEENEDY S [ 6m [KiE  |@EEk (1)
() — 1|42 T B 35%2 E R LTI |5 e
49,100 1.2:1 Tk 600m [( 60, 200)
-3 W2
B ALK 41,000 258 BT [ —IEEENELIESEE [ 4m [KiE s (1)
() - 1|EMFARME1505%2 R 5 i i 1rpE
41,500 1:1.2 Tk 1.1km|( 60, 200)
-1 W2
BRG] B3k 69,000 552 JEER | BCRE  NERE A (R 1om [/kiE  [5R (1)
() 5= 1|5 M TS imIT 12797 14} RN E 2 Espic [ES
75,000 1:3 HirE | Rk 1.6km|( 80, 400)
5- 1 RC2
&S [FESiH 64,500 231 [ PESEO—EENREZ [t 6m |KiE  [FEE
(U - 1|F#E3T H14%19 WIXEPEIRELIAEEM | HA 1
65,100 1:1.5 1k Tk 1.2km|( 60, 200)
-14|[ A3 —14—28] W2 i




k184

E AT OO i & ] — M Cdn D e

(1) (2) (3) (4) (5) (6) 7 ®) 9) (10) (11)
FEHE 5| Fe A oD BT R J OV 3 0N FEh  [JRvEM | ELvEH | ERMEH ORI FEHEMOEN O o> [FEAHEH O R | FEAER | B o | eI ZARD
() [EEEs (e (o (oK [AoBn  |[FIFAOB EHEOBPL  [IZoW |$GEZ O [#TFHmEZ
e s e H(CF)D1| (nf) TOK DT OfIEA I
(F) g A—h i, T At [ S<HIIR T
=Yl Al (R | Eib D
DAk Tt g% K |Fr ok
(M) [ONWN
PEIOL S
fiodk
DL,
BT T 68,200 424 FE N —R TR S |1 3m [KE [EHERT
() - 2|[MIL5T H1963%31 WBERLFE E HiEK i HA 2%
69,400 1:2.5 500m [( 60, 200)
-12|TA5—1—12] W2
BT BT 112,000 219 JEEEE TG, FHOT, v var [des 16m|/KiE |BTF
() 5- 1|HF1T HZ1568%3 EPNRIET DRI |y A [GES
117,000 1:2 Tk 300m [( 80, 400)
5- 2|[BF1—2—6] SRCYF1B
EEN ENIH 59,000 312 [ EEEOT R e |8 6m [KkiE [AA
(5 - 4|HEITF%E230%7 EVLCBEROEE  |itiE 2t
60,200 1:1 1k Tk 600m |( 60, 200)
-9 W2
o<IE OUEH 94,500 187 FEE —EAEEET N—bDIE [JEvE 6m |KE [T
(5 - 8|&FH2T H15%5 INZERLHLEEIE  |ifiH HIA 2 E
87,500 1:2 Tk 1.2km|( 60, 200)
-3 W2
o<IE OIET 30,200 2765 FEE —EE, REEESED | 6.5m [KiE [AEVD
U - 12| K548 T E4032% 345+ RAET DT it iR
30,800 1.2:1 Tk 2.4km|( 40, 80)
-4 W2
o<IE OET 41,000 433 JEEEE TG, R EEEORE [k 9m |AKiE |2<IIE
(J1) 5- 5| KERTFEIE29997F 1 ERSLZDTGE i il VTR
42,200 1:1 Tk 7.7km|( 80, 200)
5- 1 W2
OBy OBl 66,200 186 FE PR —RET A |5 6m |/KiE [W5H
(B - 7|HRE4T HAFE24 X AR E LT B IR [ 2L
71,100 1:1.5 Tk 1.3km|( 60, 200)
12| R F4—4—2) W2
OT=bens [0 57,700 389 FE —REE, T8—NMER | 6m |/KiE [#Fn
(B2 - 13| RFESHFFI691F I+ IRAE T D115 sk i 2L
59,500 1:1.5 Tk 950m [( 60, 200)
-13[ (9445 X14) W2
OB (OBt 107,000 563 R, JE [VNEIE s, SRAT. BR)E | 33m |KiE  |BHE
() 65— 2|HEEFT2T H 2713 S |EEEDUT R EHIR (5 i
109,000 1:1.2 oA Tk 1.7km|( 80, 200)
5- 2|[{EEFHT2—2—26) S6
JEE I IS T 32,100 216 FE —EAEEOIZ I ZE L e 6m |KiE |
() - 4|'=Hh3T H4ELS FRHNAETE I e HEE
33,400 1.2:1 Tk 1km |( 60, 200)
-1l fh3—4—25] S2
RN R 17,300] 332 EE —RfEE, BTN | dm (AGE | KR )
(5 - 12| RFFIHTR15497%8 T D ik i
17,600 1.2:1 500m [( 60, 200)
-8 W2
JEE I JEIS T 35,200 616 EM&rE [/NeIbE, BEmmENe [de 12m |k |FESE
() 5- 1|Edh1T H2219% 24} Bl 5 S H ifisE [EES
37,400 1:3.5 Tk 730m [( 80, 400)
5- 1|I"=ZH1—-9—30] S2
Wk kT 25,700 325 [ RO PIZAE, BFES (b 9m |AGE [k
() - 1[FIE- T 50208 N DEETHEERK e 2rh
26,500 1:2 Tk 1.2km|( 60, 200)
-5 W2
SEA P 98,300 165 (RS PR R EESED (B 6m [AE [FEsEe
(B - 1[IFe&AE5T H13%7 W SR EEEEE OEE |5 HA 1{KEE
87,800 1:1.5 g Tk lkm [( 40, 80)
-8 W2
SEA SEAT 69,100 152 FE —REEOIENZEMS B bR am [KiE [SFR
(B - 4|EHATE2T BHFE/K2765% 1140 BIVAE T i TiE KEE
60,100 1:2 Tk 1.3km|( 40, 80)
-1 W2
HRE] HRETH 45,500 276 e —REEDEBISX [dbE 6m |KE | FES
(B — 3| ERT/IAPN1941%49 HPE AR E LT R/ |5 HA 1KHE
46,900 1:1.5 1k Tk 1km [( 50, 100)
-4 W2
i) HLE T 43,300 244 FE —EETOZ VK EEE [k 6m |AKiE | FHE
(1) - 2| BEBFKIEL768F SREUT- AL HI i 1 E
44,200 1:1.2 Tk 1.3km|( 60, 200)
-5 W2




k184

£ R O R i 7] — M A G B I MY

(1) (2) (3) (4) (5) (6) 7 ®) 9) (10) (11)
FEUEH T B R VEH OO BT A K OV I NS FEh  [JRvEM | ELvEH | ERMEH ORI FEHEMOEN O o> [FEAHEH O R | FEAER | B o | eI ZARD
() [EEEs (e (o (oK [AoBn  |[FIFAOB EHEOBPL  [IZoW |$GEZ O [#TFHmEZ
e s e H(CF)D1| (nf) TOK DT OfIEA I
(F) S5 A—h i, T At [ S<HIIR T
=Yl Al (R | Eib D
DAk Tt g% K |Fr ok
(M) [ONWN
PEIOL S
fiodk
DL,
Ein) HLE T 73,700 115 [ JEEE N2 S oH LT [ 1Tm |/Ki&E | FHE
(L) 5- 2|Fma)12.954% PO BRAT PG ifisd [EES
76,000 1:2.5 Tk 300m [( 80, 400)
5- 1 S3 HERS
PR BT 34,100 250 FEE — e, LEEEE (bR am |KE |TFE
(R - 1[EF#Ek1517%69 TET DA sk FLE 2fE S
34,500 1:2 Tk 16.7km|( 60, 200)
-3 W2
Fa T 20,500 325| 5 % FEE —EEOTIZZEHEEL B 5m |AKE VR
() - | REHERFHERIR3332%7 FHNAETE I i K E
21,100 1:1.5 14.4km|( 40, 80)
-1 W2
Al BT 27,300 322|657 FE —xfEE, NS e 7.5m |/KiE | TfE
(%) - 4|EBERTEURE TS E 12876 IRAE T D15 itk i 2fF &
27,900 1.2:1 CSliapl 12km[( 60, 200)
-4 W2
B AT 29,200 264 FEE R R EESED  [FER 10m|KiE /NI
() - 42T H1219%157 A7 SSBEFRAR R 5 itk i 1HHHE
30,000 1:1.5 P BhE | Tk 9km |( 60, 200)
1|2 —14—24) W2
179 1T 16,400 334 [ —SRETENEDLIES |7 7.2m [AaE [k €9
(R - 1|HEFARIK1161%6 PR B K i I
16,600 1:2 Tk 9km |( 40, 80)
-1 W2
fads| RET 28,000 624 [ FEEOIENZEHE 2\ X |/ 6m |/KiE [EréEE | (#D)
(R) - 4|#Hsem2T H5%9 BIEEFOEE I [ o1
28,800 1.5:1 200m [( 60, 200)
-3 W2
OUEHRLNDLIE A BN 39,700 233 FEE TR R EENED @ am [KiE (BB
(5 - 1|BHmEFde1403%9 e S5y R E s e 1{KHE
40,100 1:1.2 Tk 4.9km|( 40, 80)
-2 W2
Kk FORBEAR R GEMT 47,100 250 FE —REEDIINZE ML E | 6m |KiE | Kk
(L) - 2|RLiE392% 4k DR O 15 1k
49,400 1:2 380m [( 50, 100)
-1 W2
i T E R HHEFT 67,000 322 FE — R, TA—MEO [k 6m [/KiE MR
(B) - 3| RFSHHINTFTRIRT76% 34+ liﬁ>§tﬂ§ﬁ‘bﬂ5|§@i XTI 2{E )5
68,800 1:1.2 TR OEE L Tk 530m |( 60, 200)
-5| RS 441X 14) W2
[T 53, TR AR T 53, 32,500 232 FE THEO— LN EL| 7 dm |KE |
(R) - 5| KkrE82%:2 A SEE R [l)pTs] 1
33,500 1:1 Tk 6.1km|( 50, 100)
-6 W2
[T 53, TR AR T 53, 72,700 1,430 [ A FEITENE O |E 35m [KiE  [FEI
(8 5= 1| R 34\ 5 41525 154 ODDOYEMREES (5 HA WL
73,200 1:1.5 HmE [Tk 4.4km|( 60, 200)
5= 2| (B SR e 35 1l X R R S 1 A X5 541 W1
5%, i AR BT 30,600 221 FE —EEOTIZEHE | 4.5m |AGE | HEREWY
(R) - 1|77 /[#2189%45 RRLNDEE I W3 NE 1)
31,400 1:1.5 Tk 13.7km|( 60, 200)
-3 W2




